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ANSWERS \
\\
1. COMPLEX NUMBER
Q.6 4+6i
(EXERCISE 1.1 )
Q.7 )i i) 1
Q1 i) 0 i) 11i iii) i iv) 1
Q2 i) (3 ii)  (3+i) V) —i vi) —1
i) (—V5-47) iv) 5i vii) 1 viii) 0
v) S vi) (V5+1) Q9 i)2i i) 0
vii) (V2 =43 1) viii) cos® — i sin® 010 1
1
Q3 i) a=3, b=7 i) a=5,b=0 Q.11 1
iii) a=-3,b=7 iv) a=+2,b=16 Q.13 Yes, its value=-2 € R
2 Q.14 0
V) a=-—,b=—
13 13 Q.16 0
vi) a=E b=_—l Q241)x=1,y=2 i)x=0,y=2
2 9
2 l)x=1,y=2 v)x+y=3
Q4 i) a=-4,b=-3 i)a=00b=1 V)x+y=9
T AL _ib_—_l
TR AT (EXERCISEI.ZJ
=~1,b=0 vi)a=5 ,b=0
W a7l V=g - Q1 i) +(1-3i) i) + (4+430)
vi) a= =, p=_1 i) £2-3) i E(R5+20)
4 4
v) (310 i) £ (/5 +20)
11 23
Vm)a:ﬁ’b:F
, —1+47i —1-+/7i
. 315 Qz i) —g
1X) a:B,bZE

4




Q3

Q4

Q.5

Q.1

Q.2

Q.4

T+ 7110

i) —— - iv)2+3i,2-3i
i) =50, 2i ii) %,— 2
iii) — 2 iv) - 2i
i)—1+2i,3-i i) 342, - 2i
24303 -4i v l-is =2
55

i)7 ii) 2

iii) 7 iv) 200 - 264

v) 6

( EXERCISE 1.3 )

i) 74, —tan™ (%)

2
ii) 7 , tan'| —=
)1 (ﬁ
15 3
iii) 17, —tan" (Ej jv)3\/§,7n

i

n
V) 4\/5,7 vi) g

vii) 3,0 viii) /2, %

X) 542, tan™'7

.

1X) 2, 3

0 =nm,neZ
eri

i) 2 (coszﬂﬂ'sinzﬂj es
1 - — |; 2e3
3 3 )¢

37'ci

i) 2 cos37r+isin37r ez
i — — | ; 2e2
2 2 )¢

iii) 1 (cost+isinm);e™

Q.1

Q.3

Q.6

I
! (cos7—n+isin77nj- —e

lV)ﬁ 4 ,\/E

1 3r 3r 1 3m
V) —| cos—+isin— |; ——¢€*
) lews i)

3n .
Vi) ﬁ[cos%ﬂ'sin%] ;N2e4!

3 V3i

1) E+% i) (1-19)
OSN3 T 143
1i1) > 5 1v) 5
9 ~1+i3 viy Y3+

2 2
13
N
J2 (cos 0 + i sin 0) where
an = Y331
an 0 =

J3-1

( EXERCISE 14 )

) 1 i) 1

ii) 1 iv) 1

) -1 i) 0

iii) —1 iv) 0

v) 1

i) x*+y*=100 i) (x-32+y*=4
iii) (x=5)* + (y+6)> =25

iv) x+2=0 V) y=-Xx

vi) 2y—-3=0

1) Cos20 +i Sin20  ii1) Cos110+iSin116

iii) 1




Q.8 i) —4+4i i) —8i
16) i) 17, tan™ 15
iii) —8+8./3i iv) 512.3-512i ) 1) 17, tan < )

17(cos 6 +isin@ where tan6 = 15
MISECLLANEOUS EXERCISE -1 8
i) 37, 0 = tan" (‘_1)
M 6
Q. No. 1 2 3 4 5 ﬁ(cos@ﬂ'sin@) where tan 6 :%

Ans B D A C B

ii) 1, E, l(coszﬂ'sinz
3 3 3

Q. No. 6 7 8 9 10
Ans A C A D D
iv) 1, 52,1 cos5£+isin 5Z
4 4 4
I 1
v) 2, 2, 2(cos£+isin£j
i) (3+8i) i) —-4+0i 2 2 2
iii) (14 —5i i + 10§ )
ity ( 2 v) : vi) 3, 3—7T, 3[cos3—n+isin3—ﬂj
1 7 2 2 2
v) =30+ 10i vi) —+—i
2 2 i T T .. 7T
vii) 1, —, 1| cos—+isin—
. =35 45 1 5, 4 4 4
vil) —+—1 viil) —+——1
26 26 4 4 9) x=1,y=2
i ] ﬂ+& A T n
ix) i X) 25" 95" 12) i) 2(cos§+isin§);2e3i

2) 1) x=2,y=1 1) x=17,y=19

i1) \/g(cose +isin0) wheretan 6 = %

28 3
iif) ¥=_T.y=o7 V) x=4,y=-2 NPl

3) )i i) 0 iii) 3(cos® + i sin 0) where tan 0 = —+/3 ;
. . 361'9

4) i) 1 ii) 0

5) i)+ (3+5i) ii) + (4-i) 16) - )0  iii)—1
iii) + 3+ 1) iv) + (3+37) 7 i%i
V) = (2-i) vi) £/ 2 (2+)

20) 2




2. SEQUENCES AND SERIES

(EXERCISE 2.1 )

1) 1),ii) and iii) are G.Ps iv) and v) not G.Ps.
n—1

D 26y i) S i) 45 Gj
2) i)t =—
) 1) 31
3) 1,=50 4)x=

iyt =7 iiiya=-7 iv)r=3

4
- S5t=—,r=—
g Jh=35"75
6) 3,6,12 or 12,6,3
L,l,3,27 or 27,3,1,L
27°3 3°27
8 1,2,4,8,16 or 16,8,4,2,1
3 6 3 n
12) 80| = | ft, 80| = | ft
4 4

i) 32)% =3 i) 32)*"; 3(=1)""

7)

11) 800

13) i) 6,-3

14) i) 200(1.1)* ii)200(1.1)"® iii) 200(1.1)"

15) i) 10 ii) 4 iif) 4(5)™"

( EXERCISE 2.2 )

D i) 3(27-1) i r {1(%)}@@

pP—q

2 n
qg—pP|\P

iii) g{l—%} iv) (\/__S—Jfl)[(—ﬁ)"—l}

266
243

2) i) i3 3Hi)5 i) %

4) )2

ii) 2046

y = 10(10" ~1)-9 |

2 81t
.. 8r .
i) a_10(10 ~1)-9n]
4 1]
i) —|9n—|1-
AT ( 10")_
ity | on—[1-
81| 10" )|
5 1Y 2 1Y
NI 2L
Y 9{ (10” ”)9{ (10”
8) t =43)"!
11) i) 6138° ii) 1—5[310—1]
2
12) 20.1 Lac 15) 10 years
( EXERCISE 2.3 J
1) 1)l i1) does not exist
9
iii)_Z iv) does not exist  v) 90
7 22 106 2296
2) 1) 5 i1) Ky 1i1) 75 W a5
11 15 15 15
3) 4 4) —— S ——,—...
) ) 6 ) 416 64
4
6) 14 i) —— iii) < iv)g
W2
7 1 1) —— 8) 25
) ) 5o 9




)

2)

3)

7)

1)

2)

1))

3)

5)

( EXERCISE 2.4 J

(1) and (ii1) are H.P. ; (i1) is not H.P.

. 1 1 1
D303 W oa2s
U
1) —;—
S5n 40
24 11
59T 960 65y
-3,9 8)4, 16 9) 14, 56
( EXERCISE 2.5 )
) 2x(1—x”f1)
) + 2
1-x (l—x)
3x(1-x""
i1) ! + ( 2)
I-x (l—x)
iii) _1,33 iv) 3 — 6.2
2
4 .. o 3
1) — 1) — 11) —
) 3 ) ) 16
( EXERCISE 2.6 )

n(4n2 +9n —1)
6

n(n+3) A n(n+4)
4 ) 7%

16n(n+1)(2n+1) N 16n(n+1)
6 2

2n(n +1)(2n +1)

2) n(2n*+2n+1)

+3n

7) 2485

(O8]

8n(n+1)(2n+1) N 3n(n+1)

8) n*(n+1)°+

6 2
9) 48
MISCELLANEOUS EXERCISE -2
D
1l23[4]s5]6]7]8]9]10
Dlcla|B|Aalc|clal|lD]|C
I
) ns
D 3072 g 3

s

5
4) a="< ;r==5)51020 or 20,105
5 7

1 1
6) 5,1,3,9,27 or 27,9,3,1,5

8) %[10(10"—1)—9;1}

5 2oL
3 10"

n(n+1)(3n2 —17n+8)

10) %(10n2+27n—1)

11)
12
12) n(n+1)(2n+9) 13) n(n+1)(2n+1)
6
14 6 n(n+1)(2n+1)+n(n+1)
6 2

15) 2n(n+1)(n+3)(n+4)

2n(n+ 16)(2n +1) N 3n(i;+ 1) o

17) 14184 18) 9

16)

19) 1275

7 1 2
20) 5 QI)E 22)5 23) 2[1—(5”

Wy 2 25 2187{1—@] } 26) 1

8
27) 10,20 (28)AP. 32) = 33)5




1)
2)
3)
4)
5)
6)
7)
8)
9)
10)
11)
12)
13)
14)

1))

2)

3)

3. PERMUTIONS AND COMBINATIONS

( EXERCISE 3.1 )

50 ways

12

1) 25 i1) 20
1) 100 ii) 48
125

124

31

90

225

23

276

207

12

216

( EXERCISE 3.2 )

i) 40320
iii) 3628080

il) 3628800
iv) 24

1) 665280 i) 2

iii) 479001600 iv) 144
v) 84 vi) 29
vii) 57.93 viii) 20160

10!

10! ) 35 5
1) 1 i1) 3° x

.. 9!
1i1) 3

iv) 55 51

4)

5)

6)

10)

D)
2)
3)
5)
6)

7)

8)

i) 28 i) 1
iii) 3003 iv) 6435
i) 1848 i) 43/14
iii) 5 iv) 6
v) 8
1 i) 17
iii) 7 iv) 8
v)5
H@n+ D@en+2) i) A3
- —(n+D) -2
111 n(n—2)! iv) (3n +2)n!
(n—1) (n*+1)
v D )
Vi) o, Vi) o)
( EXERCISE 3.3 )
n=9
m=6, n=2
r=6
a) 2401 b) 840
a) 30240 b) 151200
¢) 43200 d) 5040
121 x13!
7
a) 1440 b) 720
¢) 7! d) 240
e) 120 f) 120




9)

10)
11)
12)
13)
14)
15)
16)
17)

1))

2)
3)

4)

S)

6)
7)
9)

11)
13)
15)

1)
3)

144

a) 1296 b) 360

100

720 a) 120, b) 600

46800, 20800

243

i) 2880 i) 5040

i) 120 ii) 148 iii) 72

i) 720 i) 144 iii) 288 iv) 144
(EXERC$E3A)

i) 120 ii) 60480

iii) 30240 iv) 5040

v) 302400

144

a) 70 b) 37

13

51414

12t

213121

11! 8!
200 a) 414960 b) -
210 8) 60
10!

EYETET 10) 1260, 1230

180 12) 144

360, 96 14) 180, 60

a) 1800  b) 72
(EXERC$E35)

7! = 5040 2) 20!, 2-18!

a) 2:23! b) 2!-22!

5)
6)
7)

9)

1)
2)

3)
4)
5)
7)
9)
11)
12)
13)
14)
15)
16)

14!

2
2-8!
a) 5! x2!=240 b) 9605
7! x 6P, 8) 144

% 10) 13-14!
4!
( EXERCISE 3.6 )

a) 1365  b)3160 c)'"°C, d) "C,,
ayn=2 b)yn=7
c)n=9
r=4
a)n=10, r=3 b)n=10,r=4
r=238 6) 126
39200 8) 120
12 10) 190
"C,-n; a)35 b)9 c¢)54 d)20
210
a) 45 b) 40
a) 220 b) 216
151200
1)n=20 ii)n=4,3
i)n=1,5 iv) n =4
v)n=06
x=r! 18)r=7
14161
a) 2508  b) 1646 c) 4125
16 22) 2275
36873 ; 6885 24) 425
51051
a)84 b) 126




MISCELLANEOUS EXERCISE - 3 715 g) 0
71101 13!
I
(0 9) 127 10)°C, +°C, +°C,
t[2]3[4a]5]6[7]8]910] 5y 4005 12) 48
cla|B|p|alc|alalc]|D
13) 1680 14) 63
(1) 20!
15) 5 16) 896
1) 45 2) 120
17) 60
3) 720 ; AENREM 4) 990 . ) ,
18) 1) 66 i) 11 1ii) 220 iv) 55
5) 360 6) 5541965
4.METHOD OF INDUCTION AND BINOMIALTHEOREM
(EXERCISE 4.1) 6) i)970.299 i) 0.6561
7) i) 16 i) 16
Hints : 8) 1.1262
2) pm)=3+7+11+..+@n-1)=n(2n+1) 9) 1.051
5) pn) = P+ 3+ 5+ ..+ @2n -1 = 10) 05314
n* (2n*—1)
7y p(n)=13+35+57+...+Qn—1)Q2n+1) (EXERCISE 4.3)
n
=—(@4n*+6n-1) ‘ -
3 1) i) 4032 ii) 84480
1 1 1
9 = —+—+—+ 16
) P35S e G +3) i) 19500 iv) 24
 3(2n+3) 9 B, 344
aS
(EXERCISE 4.2) 2) i) 12247242 i) 700000
iii) 48620 iv) =
1) )49 +20+/6 i) 1455 — 22942 105 16
V —
2) i) 16 + 96x° + 216x* + 21632 + 81 ) 5192
60 12 1 1792 ;
i) 645 — 19204 + 24062 — 160+ — ——=+—  3) i) —— i) —96096
x xT x 9
3) i) 323 ii) 1364 iii) 405 iv) 84
5) i) 108243216 i) 1.61051 v) 10500000




4)

5)
6)
7)

)

2)

3)

1) 924 ii) 35x°, 35x7
iii) 1120x* iv) =252
v) —462x° and 462x*
k=5
51030
m=38
( EXERCISE 4.4 )

1) 1—4x+10x* =20x° +...

i) 14+ 3x* +6x* +10x° +...

. x 3x* 11X
w)l-—+—-
5 25 125

V) 1=x+x*=x"+...

1) a

Slo3 ept 100 }
I+ —+—- T+
a a a

.. 4
i) a'|[1-—+— 5
a a a

4 106 200° }
— +...

1 b 3 b
i) a* |1+ ———5+—=+...
4a 32a° 128a

iv) 0 _1+i— s 1sb .
4a 324° 1284°

20 14b°
st
3a 9a- &la

1) 1-8x+40x>+...

2
i) 1—3?’%27’(

8

1 2
i) 23 1-2-2
2 4

L 2
iv) 52 {1—2%+6i+...j

25
|l 2
v) 53 1+f+2i+...
5 25
4) 1) 9.9499 1) 5.0133
iii) 2.0025 iv) 0.9057
v) 1.0625
MISCELLANEOUS EXERCISE - 4
ey
1 12 (3 (4|56 |7 |8 |9 |10

B|C|C|B|A D B D|B|D

()
4) 243x"0 + 810x% + 1080x%? + 720x%° +
240x%* + 32y°

16x* 16x° 9 8l
- +6——+

5)

81 9 x> 16x*
27 1760
6) ?x4y6 7) e
5
8) i) —20 iy ~63%
8y’
ii1) 280x%° and 560x°%®
v) @xéand—g)f
16
9) i) 378 i) 153
10) i) 2268 i) 7920
12) +2 13)2
14) 4 15)2
7
2 3
18) 1+£+x—+5i+
54
2 3
19) 4% 22 152
4 128




1 2
20) 5 2[1—%+6i—..1

22)
24)
26)

0.2451 23) -80
a=3,b=-2,¢=57 25)n=9
n=6;k=-2

5. SETS AND RELATIONS

25
21) 9.9833

( EXERCISE 5.1
1) i) A={M,O,V,E,N, T}

ii) B {-1,0,1,2,3,4}
ii)C=1{3,5,7,..}

2) ){x|xeW,x¢eN}
1) {x|-3<x<3,xeZ}
i) fx | x = n2n+1,n eNandn<7}
iv){x|x=(D"!"x(n-1),n € Z}
3) AuUBUC = {_?5,—1,_?1,%,3}
4) AnBNnC={ }
6) 1) 45 i) 10 iii) 10 iv) 25
7) 1) 32 ii) 63
8) 1) 1750 1ii) 250 iii) 1100
9) 42
10) i) 114 ii) 38 ii1) 188

1) P(A) = {4, {1},{2},{3},{1,2},{2,3},{1.3},

{1,2,3}}

12) 1) {x|x € R, -3<x<0}

i) {x|x € R, 6=x<12}
i) {x | x € R, x>6}
iv) {x|x € R, x<5}

) {x|x e R, I<x<5}

iv) {x|x € R, —3<x<4}

13)
14)

15)

1)
2)

3)

4)

6)

18

1) (-8, 6] i1) (-0, —4) U (5,0)

) 11
) [s’ﬂ

iii) (=00, 4) U [5,00)

1) (-7, 6] i1) [2, 9]
i) (-7,3] U [4,9] 1v)[2, 3]
v) [4, 6] vi) { }
vii) (3, 6] viii) (o, 2) U (9, )
ix) [2, 4) iv) (-7, 2)
EXERCISE 5.2
x=2,y=-2
1 15
x= I Y=

AXB = {(ax), (b,x), (¢,X), (@), (b.y), (1)}

BxA = {(x,a), (x,0), (x,), (v,a), (,D), (v,€)

AxA = {(a,a), (a,b), (a.c), (b.a), (b,b), (b.c),
(c,a) (¢,), (¢,0);

BxB = {(x.x), (x.), (:X), (v:y)}

PxQ = {(L,1),(1,4),(2,1),(2,4),(3,1), 3.4}
QxP = {(1,1),(1,2), (1,3), (4,1),(4,2), (4,3)}

{(0,10), (6,8), (8,6), (10,10)}




8)

i) R,=1{(2,4),(3,9),(5,25),(7,49), (11,121),
(13,169)}

Domain R, = {2,3,5,7,11,13}
Range R, = {4,9,25,49,121,169}

i) R, = {(1,1 2l 3l 4l 51
ll) 2_{(9)5(’2)7(93)5(74)5(95)

Domain R, = {1,2,3,4,5}
1 111

R R ={1,—,-,—,—
ange R, {,2,3,4,5

}

iR, = {(1,3), (2,6), (3,9)}
Domain R, = {1,2,3}
Range R, = {3,6,9}

iv)R, = {(1,4), (1,6), (2,4), (2,6)}
Domain R, = {1,2}
Range R, = {4,6}

v) R;=1{(0,3), (1,2), (2,1), (3,0)}
Domain R, = {0,1,2,3}
Range R, = {3,2,1,0}

V)R, = {(1,4), (2,4), (3.4), (4,4), (5.4)}
Domain R, = {1,2,3,4,5}
Range R, = {4}

vii) R, = {(1,5), (2,4), (3,3), (4,2), (5,1)}
Domain R, = {1,2,3,4,5}
Range R, = {5,4,3,2,1}

viii) R, = {(1,3), (2,4), (3.5), (4,6)}
Domain R, = {1,2,3,4}
Range R, = {3,4,5,6}

MISCELLANEOUS EXERCISE -5

1)
1)

2)

3)

5)

6)

8.

9)
10) Yes

1) A={x/x=10n,n € N,n<5}

i1) B= {x/x1is the vowel of English alphabet}
ii1)C ={x / x is a day of a week}

i) {1,2,4,6,7,9,11} i) { }

iii) {1,10} iv) {2,4,6,7,11}

v) {1,2,3,4,5,6,7,8,9,10,11,12}

vi) {4,7}
230

. L,1),(1,2),(1,3),(2,1),(2,2),
)= {EZ 3))( 3, 1)),((3,;; (3,)3)( | }
AxB = {(1,2),(1,4),(2,2),(2,4),(3,2),(3,4)}
BxA =1{(2,1),(2,2),(2,3),(4,1),(4,2),(4,4)}
BxB=1{(2,2),(2,4),(4,2),(4,4)}
(AxB)N\(BxA) = {(2,2)}

412

1) (—1,—1,~1), (=1, 1, 1), (~1,1,—1,

Ax Ax A=1(~1L1,1),(1,~1,~1),(1,~1,1),
(1,1,-1),(1,1,1)

1) Yes; D= {1}, R= {4,5,6}

i1) Yes; D= {1,2,3}, R= {4,5,6}

iii)Yes; D= {1,2,3}, R = {4,5,6}

iv) No.

i) D={123,4), R= {4}

ii)D={-2-1,0,12}, R= {0,123}

) {}

reflexive, symmetric and transitive.

ii) AxA




1)

2)

3)

4)

5)

6)

7)

8)

9)

T
10) a)A=mr? b)A= = A= -

6. FUNCTION

( EXERCISE 6.1 )

a) Yes b) No
¢) No

a) No b) Yes
c) No d) Yes
a) Yes b) No
c) Yes d) Yes
e) No

1
)1 b9 o) dr-x-l

e)x’+3x+1 Hh+1
6 1 2
a) — Db+3 c) —,—— d)1,-2,3
) s ) )2 3 )
17++/33
a)0,£3 b) ———
2
) a=-2,b=2

a) R; [_17_1700) b) R—{2}; R— {1}

) [3,7);[0,0]  g) [-4.4] ;[0,4]

2

P

:2 =
a)A=s* b)A 16

2
C2

s

11) x(30 — 2x)*; (0,15)
12) Not a function; f (0) has 2 values.

13) a) Injective but not surjective

b) neither injective nor surjective

¢) Surjective but not injective

d) injective but not surjective

e) injective and surjective

3
16) —
) 16
17) a) 5=log, 32 b) 0 =log,, 1
3
c) 1=1log, 23 d) 5= log, 27
1
e) —4 =log, [ﬁj f) -2 =log,, 0.01
1
g) In7.3890 =2 h) In 1.6487 = >
1) In6 =—x

1
18) 2)2°=64 b) —= =57 ¢)0.001 = 10"

1Y’ 1
— | = 0— 1 — o A—0.693
d)8 (2) e)e’=1 fe eg)2 e

19) a) (S,W) b) (_0052) U (3900)
20) a) logp +logqg —logr—logs

1
b) 5 logx + % logy
1
c) 3lna+2ln(a—2)—5 In (b>+5)
d) 2[%ln(x—2)+4ln(2x+1)—ln(x+4)—%ln(2x+4)}

5.7

21) a) log[xy ] b) log(¥x—2x)

z

x’—4
©) In| 5y

2t Mya= 2,59
2 Jazybe
252)3 b IL-1 o8 d)1




( EXERCISE 6.2 J

1) a)9%+4 b)0
3x+5 1}
d——:; R -y~
)6x—1 {6

2) {24, (4.2), (5.4);

¢)238

3)  a)50x% —40x +11 b) 10x2 + 13

c) 8x* + 24x? + 21

d)25x - 12
5) a)f!does not exist

b) /! doesn not exist

| 3x+7
Of ()= "¢
d) /! does not exist
x—38
~l— 3

9r' =%

f) ! does not exist
6) a)22 b) 7 c)3
7) a)-18 b)-14 c)S d) 25
8 a)ld b)-5
9) a)25 b)-3 o-15 d)21
10) a)-5 b)l1.75 c¢)—44. d)42
11) a) (~0,-9], [1,00) b) 1-5, 45

of d) [-3,3]

f) 3 +r;0<r<1 2){}

h)N, Z )n+05, neZ

Dx=0

MISCELLANEOUS EXERCISE -6
ey

B|B|B|C|C|A|A|B|C| B
(1)
1) 1) Function ; {2,4,6,8,10,12,14};

2)
3)
4)

S)

6)
7)
8)
9)
10)
11)

12)

15)
19)
23)

26)

34)
39)

{1,2,3,4,5,6,7}
i1) Not a function
ii1) Function ; {2,3,5}; {1,2}
1) not one one i1) one one

1) not onto |

1y = [XE8 )
£100 [Sj

5(x-2
R

i1) not onto

1,—3, does not exist

i) 2 i) 0

3x*— 1233+ 13x* = 2x + 5
a=4,f4)=16

a=3 b=-2

i) gof = {(1,6),(2,8),(3,10),(4,12)}
i) gof = {(1,1),(2,64),(3,64),(4,27)}
i) fog=x?— 16x +69, gof =x* -3
ii)fog = 3x*— 2, gog = 9x? — 12x +4
ii1) fog = 256x? , gof = 16x?

f#g

8 22) log4
log 5

CA 33)2
22

3 37) -8

a) (=3,0), (2,5) b) {-2.2,4)
¢) [-3.2], [2,3] d) [-7,7]
) [ n 24)




g) x=0 h) x =6k, k>0

40) a) (—o0,-3) U (-3,2) U (2,)
b) [3,4) U (4.,5)

42)

e) (1,0)
a) fog(x) =x = gof(x)
b) fog(x) =x = gof (x)

c) [-1.1] d W 43) a) flx)=2x-3
e) {1,2,3} £) [0,1] b) flx)=x>+2
g) (_0053_\/§)U(3+\/§ 700) X
44 b
1 1 ) 2) V1+2x? )x
41) a) [0,:0) b)[-—, -]
6 6
c) (0,0) d) (-1,0]
7. LIMITS
EXERCISE 7.1 2 2
( ) oL 2>83)8ﬁ Hso 53
) 1)—% 2)15 3)—% 111) 1)% 21 3) 24 4)—% 5)%
23 3 3 2
== -5 125 VER (EXERCISE7.4J
D) 1) nz+1) 2) 2 3)4  4)4 m 1
> 37 D - 2)0 3)2 4~
3Ja+2 1 1
5)—% 6) 24 7) C;+ 1) 1)% -3 [
8) 294J7 9) n* m 9= - 3007 43
c’ 42
( EXERCISE 7.2 )
| | | | ( EXERCISE 7.5 )
D D=y D=5 -5 H—y 9B
1 4 1
1)) 1)% 20 3Ho H2w2 53 D D7 2) 5a°.cosa 3 g
6) Does not exist 4) % 5) ng
) )3 2)-2 3)% 40 5)—= 1 1 |
Dh=n P U3
(EXERCISE 7.3) wosda 1
Yo V2

2)_18

1
V%%

N BN




( EXERCISE 7.6 )
MISCELLANEOUS EXERCISE -7
5 b
log| =
5 BRE 3) los(ab 1/2(3(4]5|6|7[8]|9/10[11]12|13]14]15
D 1)10g4 2) log=- ) log(abe) clelalp|c|c|clclalp|B|D|C|B|B
4 log (%)) 5) log 2. 10
2 5 1)% 2) Does not exist 3) 2xnr
I 1)Jog3)> 2)e® 3)e? 4 -3 !
2 4) Does notexist 5)3 6)21 7) = §)1
3 2
5)¢® 6) e |
9) —L1og2 10)2(logay 11)cosa (12) =
m Do d 2 180 S lees " i
1 N ) 2 %%y ) log 2
4) (log 5)* 5) —{log(—ﬂ
2L A2 Q7 7} 1372 ,
15) 5 3125 16) a sina +cos a
(EXERCISE 7.7) ®)
; 17) 242 18) (log 2 19) (log 2)? 20)%
D 1) % 2) 1 g
21) Does not exist ~ 22) n(n+D(4n-1)
m 1)7 2)2 3)2
1
256 L3 23) — 24)2
1) 1) 15 D% V3 Y [EJ 5)4 ) Sa6 )
8. CONTINUITY

( EXERCISE 7.7 )

1) (i) Continuous at x =— 2 (ii) Continuous

T
at x=——

4 (i11) Discontinuous at x = 3

2) (i) Discontinuous. (i1) Continuous.

(ii1) Continuous

3) Discontinuous at x = -2, x = -1, x =0,

x=1.

4)  Continuous.

5) (i) Discontinuous. (i1) Continuous.

(ii1) Continuous (iv) Continuous

(v) Discontinuous at x =2

6) (i) Removable (i1) Jump

(ii1) Jump (iv) Removable
7) (i) Extension=0i.c. {0)=0

(i) Extension =7/2,i.e. f(0) = % ,

(i11) Extension =-2/3,1.e. f(—1) = -3

8) (i) Continuous (ii) Discontinuous

(ii1)) Continuous




9) (i) Removable, f0)=3/2 (3) Discontinuous atx = 0

(i) Removable, f{0)=5/3 (4) Continuous atx = 1

(iii) Removable, f{0) =¢>"? (5) Discontinuous

(iv) Irremovable (6) Discontinuous atx =—1, 0, 1.

(v) Irremovable (7) Continuous on R, except at x = 5.

10) (1) — % (i1) — % (ii1) 4(log2)? (II1) (1) Removable.
3 (2) Jump

1) @ 5 (i) (logsy (iii) a=-18/5, b = 7. (3) Continuous.
(iv) a = 2, b = 4.

(v) a=1/2 and b = 1/2

(IV) (1) Removable
(x+3)(x* —6x+8)

12) Continuous A= ¥ —x-12

13) Continuous = =5 forx=-3
[Clue : (sin x + cos x)*=[(sin x + cos x)*]*? =2 forx=4
= (1 + sin 2x)*?, Let (1 + sin 2x) = 1] (2) Irremovable

14) p=-3andg=4 V) (1) € (2) 125

(V) I)a=2 b=4
MISCELLANEOUS EXERCISE - 8 4 -7

Da=--,b="—
@a=-3.b=7

D
49

LJ2 ]3[4 1516178 191101 (vIh\)f(h)=— @ f(m=7,
AIDI DI IB|A|B|A| B |C|C

(VIIT) (1) A1) < 0 and /{2)>0

(II) (1) Continuous on its domain except at (2) fiz) = 0; f13)<0 and (4)>0
x=5andx=6.
(2) Continuous on its domain except at
x=5
9. DIFFERENTIATION
(EXERCISE 9.1 ) 5) 1) Continuous and differentiable
1) (a)2x+3 b)3cos(3x) c)2e* d)3*log3 ii) Continuous and differentiable
e) ﬁ ) 2 sec? (2x + 3) 6) Neither continuous nor differentiable at x =2
g) 5 sec (5x—2) tan (5x —2) h) %? 7)  Continuous but not differentiable
) a) % b)2 ¢)384log2 d) % 8) Continuous but not differentiable

9) Continuous and differentiable

e) 3¢? f)%




)

(an (1)

( EXERCISE 9.2 )

1
(D) §x3 +e" —cosx

(2) 1 +sec” x —3x’

2x

1
(3) —+cosecx.cotx+5"log5+

S
2x?

4 X+

(5) 7’“10g7+7x6—\/_—l

X

(6) —Beosecix—5e" 4>+
X4

x

x*(xsec’ x +Stan x)

(2) x*(1+3logx)

(3)  (x* +2)[(x* +2)cosx+4xsin x]

(B
4) e'|—+logx

X
(5) \/;e"[l + xlog x + %log x]

6) 3x*(1+3logx)

(I11)

(1)
2)

3)
(4)
)

(6)

3

éx2 +x°(1+4logx)

2 s

e' secx(tanx +1)—x? (1+§logx)

3
S 3
4x’ —x2 smx+5 xcosx—xe (x+2)

(x’ —2)sec’ x +3x” tan x + xsin x —cos.x + x°.7° (7 + xlog 7)

sin x MU o 1+2x
——+cosxlogx+e(—sinx+cosx)—e’
X

2Jx

2xlog5+1j

2Jx

COoS x

e“(sec’ x +tan x) +

—sinxlogx—Sx[

avy

V) (M)

II.

2 -

e (x> +e")
(x+e°)

3)

x + (log x)
(x+logx)’

Q)

x*(1+sin x + x cos x) + xsin 2x

&)

(x+cosx)’
2e*
6) Ger—2y

f(x)=5x"-18x+3
) f(x)=(3+Dsinx+(3-1)cosx

MISCELLANEOUS EXERCISE -9

(Hce @D ©3C (4B
(5)B ©®D (MHA  @®)C
(1) Differentiable

2 p=-3, q9=5

(3) p=13, q=-43

4 p=rn/2, q=Q2-7n)/2

(5) Not Differentiable

(6) Not Differentiable
(7) Not Differentiable.
(8) Differentiable

(9) 2. Hint : Add and subtract 2f(2) in
numerator.
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Real Axis
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